Ox/7=0
Ix 7=7
2x /=14
3x/=21
Lx/=28
5x7=35
bx /=42
/x/7=49
8x/=56
dx /=63
|IOx/7=70
[Ix/7=77
[2x 7 =8 L4

Rmzmﬁer to cover before_you practice.

xl2

. @ 00 ,{:@ @mctw@

5x7=
/x /=
2x /=
|Ox /=
hx /=
6x /=
dQx / =
[x /=
[ 2x 7/ =
Ox /=
3x /=
Ex /=
[Ix /=

Remember to cover before_you practice.
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Ox12=0
Ix12=12
2x12=214
3x12=36
Lhx|2=48
5x12=60
b6xl12=72
Ix|2=814
8x12=96
dx12=1038

10x12=120

[Ix12=132

| 2x12=144

2 =
7x =
2x 2=
[Ox | 2=
h x| 2=
6xl2=
dx 1 2=
x| 2=
[2x | 2=
Ox|2=
3x12=
x| 2=
[Ix]2=






